| Blatt 1

\ 4 Aufgabe 1

[ > restart:

>pl =1 - x"98;

>p2 :=1 - x"99;

>p3 =1 - x"100;
ph=—fs+1
p2=—£9+1

i p3:=-x1%41 (1.1)

> 'pl" = factor(pl);

> 'p2' = factor(p2);

> 'p3" = factor(p3);

pl=-(x—1) (X +xX +xX + 2+ +x+1) (X + P+ 8+ x4 X
F1) (14 (=X +x =X+ —x+1) (X =xP + 5 - 1M —x
+1)

p2=-(x—1) X+ 0+ 83+ X + P+ X+ + 2+ +x+1) (¥ +x
+1) (PO x X O X —B X X O X XXX -

1) GE 28 11) (X0 — 207 400 — 88 1 X121 339 4 333 3304 27 2
XXt - 1)

p3=-(x—1) (¥ +xX + X +x+1) (¥ +x+x0+ X +1) 1+x) (¥* =X (1.2
X —x+1) (0= XP X +1) (1) (B - +1) (X

i X0+ 20— X104 1)

> 1 - xM1 = factor(1 - x"41);
M 1= (x—1) (PO + 0+ T P XX XX X0 (1.3)

X X X X X X X X X X A X XY
X X X X X P B XN X R R R X
+x+1)

7

V¥ Aufgabe 2

> restart:
> ?ifactor;
> jfactor(940);
(2)%(5) (47) (2.1)

> 47%30/ 3*2;
940 (2.2)

> jfactor(427!);
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Aufgabe 3
| > restart:

_(a)

>f 1= x ->x"2 * (1 - X);

> g :=x -> abs(cos(x));
>h = x ->-sqrt(x);
f:ZXD—)XZ(l_X)
g = X = |cos(x)|
I hi=xr— -Jx (3.1)
(> u:=x -> f(g(h(x)));
>v 1= x ->g(h(f(x)));
>w:=x -> h(f(g(x)));

u=xw f(g hmn

v:i=x— g(h(f(x)

i W=XHMﬂWMH (3.2)
(> plot([ u, v, w], -3 .. 3):
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_>#oder:
plot([ u, v, w], -5.. 3, -10 .. 10);
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[(b)
> plot(x ->sin(x)*2, 0 .. 2*Pi, -10..10);




101

N
[SIE]
s i
N
o

S

-10-

B plot(x -> sin(x)?2, 0 .. 2*Pi, -10..10, style = point);
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\ 4 Aufgabe 4
[ > restart:
>a =X ->x"3 -
>b = x ->x" -
>h = x -> a(x)
_(a)
> plot(h, 1 .. 7,

8 * x"2 + 20 * x - 16;
8 * x3 +9 * x*2 - 16 * x + 14;
I b(x) * exp(-(x - 3)"2);

a==XHXa—8¥+20X—16
hi=x—>xX'—8X +9X¥ —16x+ 14

(x—3)2
a(X) e (x—13)
h:= 4.1
X > b (4.1)
-0.01..0.2, nunpoints = 10000);
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(D)
> factor(b(x));
i (x—1) (x=7) (¥ +2) (4.2)
(C)
> eval f(h(1 + 107(-9)), 30);

3.05260648501707093949053460753 10° (4.3)




